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For the circuit shown, 7A
(a) Werite the node voltage equations, 0 10v 50 70
(b) Arrange the results of (a) ina - Vi AV Va2 AN

mathematical standard form and

solve for the node voltages, and _ 4Q +
D re's o resister + )28V oz :
N : 38v 32v
Solution: 3

Node V,
i —(-18v) A

0-21"""% 4,
50 780 60

18 Wb +i}1209
50 8Q 6Q

840 = 241, +18v |+15[1] -1, |+ 20/

840 = 24/, + 432 + 15/, - 15/, + 20/

408 = 59/; - 15/,

7TA=

Node
0 b - (32v) c7a ~(-38v) i
70 40
2

80O
_[/2—321/ v, +38v 1, -
{ TA= 70 + 20 + 80 560

-392 =8|V, —32v |+ 14V, +38v |+ 7[ )y - ]

~392 =8/, - 256 + 141, +532+ 7V, -7V,
-392+256-532=-7/,+(8+14+7)l,

~668 = -7, +29V/,

408 | [59 -15][1,| [ 1.128¢
-668| |7 29 ||V, | |-22.762v

Ve, =W, —(-18v) = -1.128/ ~18v =[-19.128/|
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